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How Line Total is Computed
Line Total is computed as follows.

If there is no Gross/Net UOM, the Line Total is computed by Receive Qty * Cost.
Qty to Receive * Cost  = Line Total 
100 * 10.00 = 1,000.00

If there is  , then the system will calculate from Net. Gross/Net UOM
Example 1: Receive UOM and Gross/Net UOM are the same

Cost * Net = Line Total
10.00 * 48.00 = 480.00

Example 2: Receive UOM and Gross/Net UOM are different

1. Convert Net to Receive UOM Unit Qty to get Qty to Receive by Receipt UOM
Net / Receive UOM Unit Qty
1,000 lb / 10 = 100 10-lb bag

2. Multiply result in b.1 with the Cost
100 * 100.00 = 10,000.00
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